Gas Law Problems set 2
1. A mass of air occupies a volume of 5.70L at a pressure of 0.520 atm. What is the new pressure if the same mass of air at the same temperature is transferred into a 2.0L container? 

2. A volume of 20.0L of oxygen is warmed from -30.0˚C to 85.0˚C. What is the new volume if the pressure is kept constant?

3. A rigid container holds a gas at a pressure of 0.550 atm at a temperature of -100.0˚ C. what will the pressure be when the temperature is increased 200˚ C?
4. What is the volume at STP of a sample of carbon dioxide that has a volume of 75.0mL at 30.0˚ C and 680 mmHg?

5. What is the volume of a sample of oxygen that has a mass of 50.0g and is under a pressure of 1.20 atm at 27.0˚ C?

6. A 50.0mL volume of gas is measured at 20.0˚ C. if the pressure remains unchanged, what will be the volume of the gas at 0.00˚ C?

7. A gas has a volume of 100mL when the pressure is 735 mmHg. How many milliliters will the gas occupy at 700 mm pressure?

8. How many moles of gas will occupy 900mL at a pressure of 4500 mmHg and a temperature of     -73.0˚ C?

9. A gas occupies 25.0L at 24.0˚ C and 745 mmHg the gas occupies 35.0L at 35.0˚ C what is the pressure that exists at 35.0˚ C?

10. A gas occupies 15.0 liters at 0.00˚ C and 760 mmHg what pressure is necessary if the gas is to occupy the same volume at 50.0˚ C?

